HSC 2001 - Mathematics
~ Band 1/2

Question 7
BOARD OF STUDIES

NEW SOUTH WALES

S Q) X= -2 wahtin =0 .

ta2
fk — Q-2 _— \ ‘,, - 1.
= | Flhe Jis Placemud e (7’\

NP o d _Ndy _uadv
(ir) \raloulg e Ay ax- w

ax dx
Vi
2 b3y L e () = (-a) ).
Y (B3
— U"tl)—\-ﬂ-,l‘ = -—«\-*:11
(++2)? Hta
pecelevaron s —++427 oy dy _ Yy dv
F+a v d x d x dax
V2 ﬂ

= (34260 = (=) (V)
(+Hea)'

— +=2 YT -d
Lh a2,

e l_'—'
Lk,

\‘\i'\\NOi@c_ﬂuiQ oihaan t=0 s d_\Sp\M*’M%" of Yy po.t'\*l(kﬁk) sl

V) \!e\m‘\ha Areveagel  Bs Haa por Foe (neieosel -

a1wed



HSC 2001 - Mathematics
~ ; | ; Band 1/2

BOARD OF STUDIES

NMEW 30UTH WaLER

b)@- a\%

GO 3BD agRF

aTWed



	Quest: 
	 X: Question 7

	subject: HSC 2001 - Mathematics
	Band 1/2: Band 1/2


